
CHM151 Quiz3a 25Pts Fall2017 Name: __ }(~-~----1"""-------­
Show all work to receive credit. 

1. (7 Pts) A standard solution of 0.243 MNaOH was used to determine the concentration of a hydrochloric 
acid solution. If 46.33 mL ofNaOH is needed to neutralize 10.00 mL of the acid, what is the molar (M) 
concentration of the acid? (You will need to write a balanced equation for the reaction.) 
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2. (6 Pts) Automobile batteries use 3.0 MH2SO4 as an electrolyte. How many mL of 1.20 MNaOH will be 

needed to neutralize 225 mL of battery acid? 
H2SO4(aq) + 2NaOH(aq) -+ 2H2O(l) + Na2SO4(aq) 
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3. (5 Pts) You are provided with a 250 mL volumetric flask, deionized water, and solid NaOH. How much 
NaOH should be weighed out in order to make 250. mL of 0.100 M solution? (Na 22.99, 0 16.00, H 
1.008) 

4. (5 Pts) What is the molarity (M) of a solution prepared by diluting 125 mL of 0.150 M HCl solution to a 
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5. (2 Pts) Complete and balance the following equation: 



CHMl51 Quiz 3b 25 Pts Fall 2017 Name: k,~ 
Show all work to receive credit. 

1. (7 Pts) A standard solution of 0.243 MNaOH was used to determine the concentration of a hydrochloric 
acid solution. If 46.33 mL ofNaOH is needed to neutralize 20.00 mL of the acid, what is the molar (M) 
concentration of the acid? (You will need to write a balanced equation for the reaction.) 
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2. (6 Pts) Automobile batteries use 3.0 MH2SO4 as an electrolyte. How many mL of 1.40 MNaOH wilfoe 

needed to neutralize 225 mL of battery acid? 
H2SO4(aq) + 2NaOH(aq) ~ 2H2O(l) + Na2SO4(aq) 
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3. (5 Pts) You are provided with a 250 mL volumetric flask, deionized water, and solid NaOH. How much 

NaOH should be weighed out in order to make 250. mL of 0.200 M solution? (Na 22.99, 0 16.00, H 
1.008) 

;)..50 fty. - 0,?.,00~ 

1000~ 

4. (5 Pts) What is the molarity (M) ofa solution prepared by diluting 145 mL of0.150 M HCl solution to a 

volume of 500.0 mL? _ ~ c, L' _ M rc-oo O . 1 '\ 

( o, 1501'\ I 2./Sm -J - ~ l ~ , /t"'-J 
u.se: M1 V1 :: M?-. V'L 

,.tvl,._-:::: 0, o ½3S fl\ 
5. (2 Pts) Complete and balance the following equation: 

;)JhPO,(aq) + 3 Ba(OH),(aq) 7 G' l+i-.O ft) +- Ba.3 crotJ .;i_ (§) 


